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* Shilpa weighs more than Anita but not as much as Roja. Anita weighs more
than Jeeva. Kanaga weighs more than Shilpa but less than Roja. Who has the

most weight?
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* In a row of students, Vijay 1s 11th from the left end, and Hemant is 17th from
the right end. If they both interchange their positions, then Vijay becomes 15th
from the left end. How many students sit between Hemant and Vijay?
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® Each of six friends P, Q, R, S, T and U has different height. S is taller than only
two other friends. R 1s younger than only one friend. P 1s shorter than S but
taller than Q. T 1s younger than U. Who is the youngest of all the friends?
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* Select the option that is related to the fifth letter-cluster in the same way as the
second letter-cluster 1s related to the first letter-cluster and the fourth letter-
cluster 1s related to the third letter-cluster.
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* Select the triad which has the same relation as that shared by the given triad.
* 3T T T T ST fSTeenTt ot Gaier & S fou 7Ta 71 gy e fomam T 2|
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* A father, at present, 1s three times as old as his son. Five years ago he was four
times as old as his son. How old is the son?
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* Find the odd one out from the given alternatives.
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® Four publications are listed, of which three are similar in some way and one is
different. Select the odd one out.
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* Statement: Private schools produce better results as compared to government

schools.
® Y RN Thell 3ht qoiT H i Thed S8t Tiune <d & 6\
i\ /

* Assumption:

* (I) Government school students are not intelligent. E
® (IT) Private school teachers are more qualified than government school teachers.
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®* Find the next term.
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®* Find the next term.
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* In a playing field all the players are standing at an equal distance from the
centre. Ramu 1s facing west and Bhaji 1s facing 135° clockwise from Ramu.
Kamath 1s standing in 135° anti-clockwise direction from Ramu. Kishore 1s
standing 45° anti-clockwise from Bhaji. What 1s the minimum angle between
Kishore and Kamath?
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® If 5th June 1996 1s Friday, then 10th October 1996 will be-
* Ifd 5 S 1996 I EHAR N Al 10 SFST 1996 i GITI-
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* If 'K' means 'multiplication’, 'M' means 'subtraction’, 'J' means 'addition' and 'L’
means 'division', then
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®* At what time between 6 to 7 O' clock minute and hour hand will coincide?
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* Looking at a portrait of a man, Harsh said, "His mother 1s the wife of my
father's son. Brother and sisters I have none." At whose portrait was Harsh
looking?
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® In a certain code language THAILAND 1s written as VFCGNYPB. How will
SRILANKA be written in that code language? [SSC - CHSL 2020]
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® The minimum number of straight lines required to make the given figure 1s-
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® Statement:

* Some red are yellow./3$ oTlc] il
* Some pink are orange./%® ‘:Ifﬂﬁﬁ AT g
* All red are orange./E¥T <ITeT AT H

® Conclusion :

® Some red are pink./$HS clc] *\chflldhl 2l
* Some orange are pink./$® AT W%l
* Some yellow are red./$s diet T &
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